_ 2= 2x
2} %l— 1

'(3 DoH(u(O lx[-47£0 (x[#4  X£X4 De (—°°,-4>U('4/4)U(”,*"°)

NN \\\ N
N RENANAN

Z) TEnS. Asgl

E X Fe
Aas ‘d S -2X Iy} -.-_.—'> B-2x=0 %:5_
_5-2X el *
= = 5
I A(§/0>
ASSE it X=0 X=O
4= 5-2x ge-5 B(O/—S)
Il -1 b
5
-4 42
3\ sEqwo ' '
\5 5-2% >0 < < % = + + (-
-2¥
;?([_4 20 + — A+ |+
IX[ ~4%0  [X]|>4 x<-4V x>4 _



y=V4x2—1—-2x+6

43 DOMINIO - 4x2'-«t>/o s(é-‘—'i ' x;’é
X=+4d
2
oo -4 1
D= (oo z] U[z:“")

A

|

£

o

g

1//:

g

~

g \

474 >
/ 2 ://:/

T

e /

://I

L~

l/ | /
ATV
e | B2 UBE T =206 VA4 _2x46 - o
! = 2x-¢ 20

Y=o Usx=4 =2x—f
%{l: 7)%_20@;.36
{xaa
X = 2’3' L.4. ﬁﬂw el
Ko Xz0 mon fo fod 24 <o
* . ‘ [NTELS.

MW"}M&.M,(MWW ol hodr

Lome u



3) SEo

Y4x* -1 -2%+4 >0

Yax>14 > 2% -¢
2x-¢c L 0O 2X-6 2 0
\'A
2
4Xx-4 >0 4//“/_4 >y({—z4x +3¢
x <3 X723
\
_4 s 4 37
XS > vV X2 2 X ? Ez
¢-1 Tex<s X723 — X
XSz V3 VA s =

-1

r.N\* <

IN
|
NS
<

2 li// *



